AR—AS1600 [BEEASHA]

[1. 5mANY]

(RRERRANG 7 FREQRERER - ABTHIEICREN GL+0m 25

S=1:30

A ERER AT
a~atilX

S=1:6

(W, Sw

FERmPaqA vk

FA$EBN M8 x 35

1)

BERERGTE]  s=1:6

i g

=

3-fA1RBN M8 x 65

CERER{TE  s=1:6

i

m

\|

<

FA4EBN M8 x 40

(W, SWHF) HABES 34>k (W, SWet)

A 1EBN M8 x 25

~ / (Wet)

(W) 2-F1RBN M8 x 25

W)

(Wet)

FA4EBN M8 x 70

AT I PEREA

2-fE48BN M8 x 65 —— - <apf- — - ——
(Wft) —
‘ 1500 __ 1500 iR
®48.6x3.2 YF ‘
A y B g . ’ . ‘ Erer= /E
#I T T PERPA Y IA L
] = s giam Bl ¥ 1|
c—— g | 18BN M8 x 70
DA Ay a | V)
NATFs g n AL 12 PR
LT gl 8 i
H i 2 ?
| D ZRER 4 X $=1:6
| i Wz o8
GL+0m - i ?
(=]
ULL $50.8x2.3  $50.8x2.3/7 1| _ 3l g l :
8 B £4EBN M8 x 30
(W, SWT)
350 350 ] I ! LE” ”
] A T T ]
! _F1RBN M8 x 70
(Wft)
INRILEF S 340+
INRILRIAR o
() NIEBHBBEETT, N
oD Y £ BEIFE $=1:6
R k- _ 3
K a= a b~biR i ]
IR SIEE @
( RYEE
(

£1EBN M8 x 65 ‘t
W)

f ¥

b ‘ b

BIERR—H—

T T BT M8x65

(Fv b2, W2#4T)

ZITEE

&4
fE: - B 7EREOEERER - AKTSICESICAEAICKS,
ME-- -BEREEI2. 6mUT(EZEEO0. 3t/ m)

HEIXLIREDOHET B,

B, RRAEEEFEOHEDLEXITHEL,
EWEMN - - - REFSHMAN 98 kN/m (10 t./m)

FLrFEEIB30cmeET B,

=

1. SHEEITDINT _
-EH. £ BxEE
Jafuh ERE AV MIBC) | - -
ZteE
DAV Aya
R #
S N R R R
RUEE

Il

sV Fy b

B - FILT - ITRVDLBEDHED

" EETHE AR A
- Binth > 2D LEMHERIEBIEMAZEE

- BRERING - E0 LETHRIERIEMAZRE

AREROOEDLMWEERLEEL L—&
DRI - Fy MEBEREROSOEDH

230408009—2

2024.03




